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This sample questlon aj

Which of “tk
regarding velogi
(A) Velocity of &
than is speed

(B) Speed of a m

than its velocity

(C) Speed of a moving body- is:

given direction

(D) Velocity of a moving body is its spee

given direction

e walls of the

{B) no
(D) none of these

aphy, the different constituents of
et adsorbed differently on the same
e material, because they have different
ates of movement. This rate of movement of
each adsorbed material depends upon —

(A) The relative solubility of constituents of

Area under a V-T graph represents a physical mixture in a given solvent.
guantity which has the unit (B) The relative affinity of constituents of mixture
(A) m? (B) m for the adsorbent medium.
(C) m3 (D) ms™ (C) Both (A) & (B)
) o (D) Independent of all factors.

If the force applied on an object is doubled and
mass to haI’f?. What will be the ratio of its 10. The molecular formula of zinc phosphate is-
z§?§?mms. ®2:1 (A) Zn(POa)s (B) Zn2POs

. . C) Zn3(PO D) ZnPO
C)1:4 (D)4:1 () Zns(PO2): (D) ZnPOs
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Pick out the isoelectronic structures from the 21.
following-

() CHz* (1) H:O*

(1) NHs (IV) CHs~

(A) land I (B) lll and IV

(C)land Il (D) I, 1, v

The mass percentage of sugar in a solution 29

containing 48 g of sugar and 72 g of water is
(A) 40 % (B) 30 %
(C)11% (D) 7 %

The temperature remains same duvrmgsm'
while all the ice changes |nt0
(A) latent heat of fusion
(B) latent heat of vapo!
(C) latent heat of evapi
(D) latent heat of ‘stbli

The mass -

Biochemic
memebran
(A) Proteins #:
(B) carbohydrate
(C) Lipids + proteir
(D) carbohydrate ont

The network of Endoplas
present in the —
(A) Nucleus
(C) Cytoplasm

(B) NchIeoI'u-
(D) Chromosomes

Solute concentration is higher in the external
solution —

(A) Hypotonic
(C) Hypertonic

(B) Isotonic
(D) None of the above

Which of the following tissues has dead cells?
(A) Parenchyma (B) Sclerenchyma
(C) Collenchyma (D) Epithelial tissue

29.

Intestine absorb the digested food materials.
What type of epithelial cells are responsible for
that?

(A) Stratified squamous epithelium

(B) Columnar epithelium

(C) Spindle fibres

(D) Cuboidal epithelium

Select the incorrect sentence

(A) Blood has matrix containing proteins, salts
and hormones

(B) Two bones are connected with ligament

C) Tendons are non-fibrous tissue and fragile

: ilage is a form of connective tissue

i ply by a process called

‘value of y

‘breadth of square are
y-30% and 20% respectively. The
‘tectangle so formed exceeds the area

f square by
(A) 56% (B) 46%
(C) 66% (D) None of these
Solve : x = 11 X # 2
2= 1
2__ =
2-x

(A)O B)1
(-1 (D) None of these
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30.

31.

32.

33.

34.

35.

36.

A=(2+1)(2°+

HE4+1) ... (2298 + 1). The 48 5
value of (A + 1)1/2048 is (A) ?hrs (B) Ehrs
(A) 4 (B) 2016 35 8
(C) 24032 (D) 2 (C) —hrs (D) —hrs
8 35
The area of the shaded region in the diagram
is 37. Let a, b, and ¢ be nonzero real numbers such
—— 1 1 1
thata+—=5,b+==12 and c+—=13 .
b c a
3 . 1
Find abc + —.
abc
(A) 750 (B) 680
€):780 (D) None of these
3
(A)9 of a town increases by 12%
(C) 18 "cg_eases by 10% during

resent population is

If p:x+1then the value of p=
X

(A) 3x

x*+x2+1
X3 +x

(©)

3
A can do g part

(D) 443

i djoining figure A = 60°, C = 50°.
3 /BDG =30°, ZGEF =20°. Then
(B) 1 A
x*+3x% +1
X3 +x G

(D)

of awork is 9 hrs, B can do

B [+
1
— part of the same work in 4 hrs. Both work
4 (A) EG = 2FG (B) EG > FG
together and complete the work in: (C)EG=FG (D) EG < FG
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44, 700 in roman numerals can be written as :

45, The Quartered part of a number obtained
when the first prime number is cubed and then (A) (B)

(A) CDC (B) DCC
(C) ccb (D) DDC

X)

added to the square of the fifth prime number

and finally multiplied the result by the 5th

composite number, willbe

(A) 322.5 (B) 62.5

(C) 125 (D) 245 49. In the given question, a part of the figure is
: bt issing. Find out from the given options (A, B,

""" -right figure to fit in the missing figure.

© D)

46. Arrange the following words i
meaningful order. : 0 L
1.Study 2.Job 4
4. Earn 5 A
47.
in the
48.
Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. D B D B C B B A C C D A A C B
Ques. | 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. C C C C B B C B D D A A A B A
Ques. | 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans. A D A B C A A C B C C A C B A
Ques. | 46 47 48 49 50
Ans. D D D C C
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1. This sample question
2. This paper contains:gue
3. In this question pz
Q. 01-25 are of

(D) Optic nerv

3. Apencil of 5 cm long:
12 cm from a convex len
perpendicular to the principal axis; cale
size of the image formed if the focal lengt]

(B) 2 x 103 N
(D) 5 x 103 N

“A longitudinal wave travels from east to west in

lens is 8 cm.
(A) 20 cm (B) 15 cm air in which direction do the particles of air
(C)10cm (D) 12 cm move?
(A) East to west
. . . . (B) East to west and north to south
4, Which ray is least deviated by a prism? (C) North to south
(A) Violet ray (B) Green ray (D) South to north
(C) Red ray (D) Yellow ray

8. A ball weighing 1/2 kg has a kinetic energy of 1
5.  Four cars A, B, C and D are moving on a leveled joule when its speed is:
road. Their distance versus time graphs are (A)1 m//s (B) 2 mﬁs
shown in figure. Choose the correct statement. (C)3mis (D) 4 m/s
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10.

11.

12.

13.

14.

15.

16.

17.

A dirty green precipitate of ferrous hydroxide is
formed when :
(A) Iron sulphide reacts with dil HoSO4

(B) Ferrous sulphate crystals heated strongly 18.
(C) Solution of ferrous sulphate is mixed with

sodium hydroxide solution

(D) None of these

H,S(g)+Cl, (g)—>2HCI(g)+S(s) 10

The reaction is interpreted as:

(A) H2S is getting oxidised and Clz is gettin
reduced :
(B) H2S is getting reduced and 2
oxidized -

(C) Only H2S is oxidize

What will be “th lous
indicator in Na2COs3
(A) Red :
(C) Colourless

Number of valence electrons in"
are —
(A) 12
€2

(B) 10
(D) 8

Osmaosis is the movement of :

(A) solute particles from higher concentration to
lower concentration

(B) solvent particles from higher water potential to
lower water potential through a semi permeable
Membrane

(C) solute particles from higher concentration to
lower concentration through a semipermeable
membrane

27.

(D) solvent particles from lower water potential
to higher water potential.

The carbohydrates synthesized in the leaves are
transported through sieve tubes most commonly
in the form of
(A) glucose
(C) sucrose

(B) starch
(D) cellulose

Which of the following is the correct path taken

by urine in our body

(A) Kidney — ureter — urethra — bladder

B) Kidney — bladder — urethra — ureter

ney — ureter — bladder — urethra
+Kidney — ureter — urethra

ctions
ie gland

isorders is

Sertoli cells

#m)X + (m? — 4m + 4) = 0 has
what is the value of ‘m’?

B (B)ym=8
©m=2 @) m=2

If the numerator of a fraction is increased by
200% and the dreaminator of the fraction is

increased by 150%, the resultant fraction is %
What is the original fraction.
5 4
A) — B) —
A 3 (B) -

© % (D) None of these
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28.

29.

30.

31.

32.

33.

34.

In the adjoining figure A = 60°, C = 50°. 2
Z/BDG =30°, /GEF =20°. Then 35 Findxsothat22 =4%
A (A) 281 (B) 278
(C) 28 (D) None of these
G
36. Consider the triangle ABC shown in the
following figure where BC = 12 cm, DB = 9 cm,
o g o) CD =6 cm and £ZBCD = ZBAC. What is the
(A) EG = 2FG (B) EG > FG ratio of the perimeter of the triangle ADC to that
(C)EG = FG (D) EG < FG of the triangle BDC?
A
If x= 1 is root
NG
Px? + (3 -2)x-1
P2 4+1is :
A V6
©7
A, B and:C:start:at:the sar
direction
compleéts ‘
seconds 9 ire produced
the ind F. The
agai ;
(A
(C
Sol
(A
(C
If 4x
then
(A) — eral triangle,
55 an edge of the
© = lateral triangle is
guare is equal to
In a triangle “Al ©2J3+3 _
drawn. If AD B) 2 Sq. unit
ZABE = 60°, then the
8 : tinit (D) 2\/§ sQ. unit
™3 3
(C) 32 (D) 64 o = 1-sinx _ 1-sinx _ COSX
3V3 3 P 1rsinx ' 0 cosx 1+sinx’
then Which one of the following statement is
The number 2.5081081081081............. can be correct ?
writen  as *» wheremandnare  natural A)p=qg=r (B)g=r=p
n ©r=p=q D)p=qg=r
numbers with no common factors. Find m + n.
(A) 649 (B) 928 40. The expression (1 —tan A + sec A) (1 —cot A +
(C) 749 (D) None of these cosec A) has value :
A-1 (B0
©)+1 (D) +2
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41. Which of the following pairs of equation is/are

Inconsistent? 47. Needle’ is related to ‘Clock’ as ‘Wheel’ is

related to ........ .
(A)3x—y=8,x—L=3 (A) Driver (B) Vehicle
3 (C) Circular (D) Move

(B)4x +3y=24,-2x +3y =6
(C) 5x—y =10, 10x — 2y = 20 48. What is the number of squares in Figure?
(D) 2x + 7y =12,5x + 21y = 15

42. LetPbe a function defined byP(t) = a' +
bt, where a and b are real numbers. If P(1) = 7
and P(3) = 28, compute P(2).

(A) 34 (B) 19
(C) 43 (D) None of.
s (B) 12
43. 1f x >0, x2 = 264 and x* =2 (D) 14
value of y? : _ _
A)2 llowing figures represents
(C) 232 J. Vegetables, Spinach,

44, If the digit i
number is |
doubled,.

L of five
nd out the
ontinue
45,
46.
(A) East
(C) West
Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans. C B B C B A A B C A B B C C D

Ques. | 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

Ans. D B C C D C B D D A D C C C D

Ques.| 31 | 32 | 33 | 34 | 35| 36 | 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45

Ans. A B C A B A C A D D A B D C A

Ques. | 46 47 48 49 50
Ans, B B D A A
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